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Subject : MATHEMATICS 
Grade: 11

Total Marks: 25 
Duration: 30 Minutes

Test Date:                  [image: ]

Applicant’s Name:   [image: ]                          

Instructions: 
· No Calculators are allowed. 
· All questions are compulsory, please use a pen. 
· Please circle only one correct answer from the given options. 
· Return the question papers and the rough sheets to the invigilator before leaving the hall. 
· This document consists of 8 printed pages including this page. 










ATTEMPT THE FOLLOWING
1.
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a) 31		
b) 36
c) 37
d) 38 
2. 
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       a) 4
       b) 6
      c) 8
      d) 5 
3.
[image: ]
a) 12 cm
b) 8 cm
c) 
d) 6 cm 
4.
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a) 22 cm
b) 14 cm 
c) 11 cm 
d) 9 cm 

5.
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a) 36 m
b) 32 m
c) 34 m
d) 30 m
6.
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        a) 3
        b) 2
         c) 4
         d) 5  
7.
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a) 
b) 
c) 
d) 
8.
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a) 3 : 1
b) 1 : 3
c) 1 : 2
d) 2 : 1
9. 
Two dice are tossed. The probability that the total score is a prime number is:
A) 
B) 
C) 
D) 
10.
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a) 
b) 
c) 3
d) 
11.
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a) 
b) 
c) 
d) 
12.
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a) 77
b) 98
c) 63
d) 49
13.
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a) 36 m
b) 34 m
c) 32 m
d) 30 m

14.[image: ]
a) area (ΔABC) = area (ΔDCQ)
b) area (ΔABC) > area (ΔDCQ)
c) area (ΔABC) < area (ΔDCQ)
d) area (ΔABC) ≠ area (ΔDCQ)
15.
A sphere and a hemisphere have the same volume. The ratio of their curved surface area is:
a) 
b) 
c) 
d) 
16.
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a) 
b) 
c) 
d) 
17.
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a) (4, 6)
b) (-4, -6)
c) (-4, 6)
d) (4, -6)
18.
A bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the probability that none of the balls drawn is blue?
a) 
b) 
c) 
d) 
19.
The slant height of a right circular cone is 10 m and its height is 8 m.
Find the area of its curved surface.
a) 
b) 
c) 
d) 
20.
A father said to his son, "I was as old as you are at the present at the time of your birth". If the father's age is 38 years now, the son's age five years back was:
a) 14 years
b) 19 years
c) 33 years
d) 38 years

21.
At what rate of compound interest per annum will a sum of Rs. 1200 become Rs. 1348.32 in 2 years?
a) 6%
b) 6.5%
c) 7%
d) 7.5%
22.
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a) 36
b) 63
c) 99
d) None of these


23.
A man takes 6 hours 15 minutes in walking a distance and riding back to starting place. He could walk both ways in 7 hours 45 minutes. The time taken by him to ride back both ways is:
       a)  4 hours
       b)  4 hours 30 min
       c)  4 hours 45 min
       d)  5 hours
24.
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       a)  
       b)   
       c)   1
       d)   0
25.  
A train covers the first 16 km at a speed of 20 km per hour another 20 km at 40 km per hour and the last 10 km at 15 km per hour. Find the average speed for the entire journey.
a) 24 km
b) 26 km
c) 21 km
d) 
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What is the slope of the line, parallel to the line 3x - 6y = 4?
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Ifx — % = 3, the value of x> — % is
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What is the ratio of the angles subtended by a chord at the centre of a circle to
the angle subtended at any point on the circumference of the circle?
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The tops of two poles of height 30 m and 14 m are connected by a string. If the
wire makes an angle of 30° with the horizontal, find the length of the wire.
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Let AB and CD be two parallel lines and PQ be a transversal such that PQ
intersects AB at the point R and CD at the point S, respectively. If .BRP = (2x +
13)° and 2DSP = (3x - 22)°, then find ~CSP.
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If 8 be an acute angle and 7sin20 + 3cos20 = 4, then the value of tan6 is?
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Reflection of the point (4, -6) in the origin is:
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A chord of length 16 cm is drawn in a circle of radius 10 cm. The distance of the
chord from the centre of the circle is:
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Find the value of x:

23 x 3% x 1080 + 15 = 6
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If tan 8 = 1, then the value of om0 5080 o,

sin®@ — 2cos30 4 7 cos 0
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Height of a tree is Tm and length of its shadow is 1/v3 m find the angle of
elevation of the sun.
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What is the value of 123 + 124 + 1247
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A wire is bent to form a square of side 22 cm. If the wire is rebent to form a circle,
then its radius will be:
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ABCD is a parallelogram. BC is produced to Q such that BC = CQ. Then
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The tops of two poles of height 30 m and 14 m are connected by a string. If the
wire makes an angle of 30° with the horizontal, find the length of the wire.
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u:v=4:7andv:w=9:7.If u= 72 then what is the value of w?
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If 3x2 — ax + 6 = ax? + 2x + 2 has only one (repeated) solution, then the positive
integral solution of a is:




